,.r”” iw" INSTALLATION
| UMAX
BATH ENCLOSURES

An Alcoa Company ®

Tel: 800-643-1514
Fax: 870-234-3181
www.alumaxbath.com

700 SERIES
CONTINUOUS-HINGE
§HOWER DOOR

J

\-
Copyright © Alumax Bath Enclosures 2000. ANl rights reserved.

EPH-N00-06077
6-3-02



LIMITEDWARRANTY AND REMEDY

ALumax BaTH EncLosUREsWarrantstoitsdealers, customers, andall subsequent purchasersand users,
that the products supplied by it shall be free from material defects in material and workmanship for a
period ofone (1) year after shipment, provided they are installed and maintained according to ALumax
BaTH EncLosURE's recommended practicesand installation instructions. Thiswarranty shallapplyonly
todefectsappearingwithin one (1) year from the date of shipment, and provided that ALumax BATH
ENncLosuresis promptly notified inwriting of such defects. The sole and exclusive remedy with respect
tothe above warranty or with respect toany other claim relating to defects or any other condition or use
of the products supplied by ALumax BATH ENcLOSURES, however caused, andwhether such claimisbased
uponwarranty contract, negligence, strictliability, or any other theory, is limited to repair or supply of
such products, or repayment by ALumax BATH ENcLOSURES of the purchase price paid for it, at ALumax
BATHENCLOSURE'soption.

ALumax BaTH ENncLosURES does not make any other representations or warranties, expressor implied,
including, butnotlimited to, any implied warranty of merchantabilityand any implied warranty of fitness
foraparticularpurpose. Innoeventshall ALumax BATHENcLosURES be liable for special, direct, indirect,
or consequential damages, including, but not limited to, loss or use of profits.

Dealersagreetopassontoitscustomersand usersinwriting ALumax BATH ENcLosURE's Warranty and
Remedy assetforth above.

Lawsandbuildingand safety codesgoverning the designand use ofbath enclosuresvarywidely. ALumax
BatH EncLosuREs does not control the selection of product configurations, operating hardware or glazing
materials,and assumesnoresponsibility therefor.

INSTALLATIONNOTES

Unpackyour unitcarefully and inspect for freight damage. Lay outand identify all parts using the
instruction sheetsasareference. Beforediscardingthe carton, check for small hardware bags that tend
tofall tothe bottom of the box. Ifany partsare damaged or missing, refer to the descriptions notedin
theinstructionswhen contacting your dealer for replacements.

Handleglazed panelscarefullyand protectthe edges. Safety temperedglassisvery resistanttobreakage,
butthe sharp cornersof the panelscan damage tile and floor coverings.

Please wear safety glasses whenever drillingor cutting. Whendrilling holesinceramictile or marble,
useacenter punchand hammer tocarefully break the surface glaze sothedrill can startwithoutskidding.

Toinstall your Alumax Shower Enclosure you will need the following: tape measure, level, #2 Phillips

screwdriver, drill, 1/8"and 3/16" drill bits, hacksaw, pencil,and caulking (clear silicone recommended).
Optional toolsinclude amiter box for cutting parts to length, files, center punch, clear glue and masking

tape.

EPH-N00-06077 Page 2 of 7
6-3-02



700 PARTS LIST

1 Curb

2 Wall Jambs

6 Plastic Wall Anchors

6 #8 x 1 1/2" Truss Head Screws
1 Glazed Door Panel

1 Strike Jamb with Magnet

6 #8 x 1/4" Truss Head Screws
2 #6 x 1 1/4" Pan Head Screws

IOTMOOow»>

J
K
M.
N.
P
R
S

1 Interior Door Handle

1 Exterior Door Handle

1 Drip Rail

1 Tapered Drip Vinyl

2 Drip Plugs

1 Roll of Double Stick Tape

1 #6 x 3/8" Truss Head Screw

Page 3 of 7

{

TS5V

o

©

—

EPH-N00-06077
6-3-02



1 The ALumax 700 Continuous-Hinge Shower Door
iscompletelyreversibleand maybe installed hinge-leftor
hinge-right. Refer tothe illustration todetermine the
correct position for your installation. For maximum
waterproofing, the hinge jamb should alwaysbe opposite
the shower head. These instructionsdepictahinge-left
installation.

CAUTION: For safety, the door must always open
outward.

2 NOTE: The 700unitmaybeinstalled withoutusing
the sloped curb [A] provided. Its use is definitely
recommended for positive water control on shower sills
with little or noslope.

Measure the wall-to-wall opening at the shower silland
cutthecurbtotheexactlength. Filetheendsofcurbas
necessary tofit the corner contours of the enclosure.
Place the curbonthe shower sillwith the raised portion to
the exterior of the enclosure. Make sure thecurbis
centeredonthesilland lightly markits positionon thesill
withapencil.

Remove the curbfrom the sill and run two beads of caulk
inside the penciled marks on the showersill. Place the
curbintheexactpositionmarkedandseatitfirmlyinthe
caulking.

MEASURE
—— SHOWER

SILL

CURB N

CAULK
t’(“r PENCIL

EH'QH LINES

3 Placeoneofthewall jambs[B]againstthewallwith
the bottomend 3/16" from the raised side of thecurb[A].
Plumb the jamband mark the hole locationson thewall.
Repeatfortheotherwall jamb. Removeall partsanddrill
thewallsfor mounting hardware.

Fortileormarblewalls, drill six3/16" diameter holesand
insertthe plasticwall anchors[C]. Acenter punch helps
locate the holesaccurately.

Attachmentstofiberglassoracrylicunitscanbemadein
twoways. Ifareinforcementisbuiltintothewall of unit,
drillsix1/8" holestoinstall mounting screwsdirectly into
thereinforcement. Ifwallsare notreinforced, drill 3/16"
holes and install plastic wall anchors or toggle bolts
(toggle bolts not supplied by ALumAX).

— ’—3/16“

.

WALL
AME

CURB

EPH-N00-06077 Page 4 of 7

6-3-02



4 Slide the strike jamb [F] over one of the mounted
wall jambs [B]with the magnet facing outward.

Measure the wall-to-wall opening at the top and at the
bottom of the wall jambs and note the smaller dimension.
Measure thewidthofthedoor panel [E] at the bottomrail.
Add 2 1/4"tothe door width, subtract the total from the
minimum wall-to-wall opening and divide the resultby
two. Thisshouldbe thedistance fromthewall tothestrike
jambattheclosest point. Plumbthestrike jambvertically
and markits location on thewall jamb with a pencil.

_—
~@— MEASURE —|

Distance = % of —m ——

(Opening — (Door
Width + 2 1/4")

STRIKE o I.'_

JAMB
WALL
JAMB
o MEASURE =] EXTERIOR
5 Inside the shower enclosure, drill two 1/8" holes T —
thruthestrike jamb[F]andintothewall jamb[B]3/8"to 1
3/4" from thewall and approximately 1" vertically from \L | STRIKE
eachendof the strike jamb. Drillathird hole centered WALL ———~d JAMB
between thefirst two, thenenlarge the three outer holes JAMB —
witha3/16" drill for clearance on the self-tapping screws. (3)#8 x 1/4” \® ﬂ —
Attach the strike jamb permanently with three #8 x 1/4" SCREWS %
D
trussheadscrews[G]. 38".3iqn L ‘
\
[~— \

\Y‘ —

1||

6 Slide the door panel [E] over the other wall jamb
[B]until the door panel and the strike jamb [F] can meet.
With the door closed and the latch magnetsengaged, the
proper door panel tostrike jamb clearance is 1/8" (see
illustration). Mark the hinge jamb’s locationon thewall
jambwithapencil.

Attachthe hinge jambanddoor panel permanently perthe
instructionsin Step#5.

-

WALL HINGE
/ JAMB / JAMB

STRIKE #8 x 1/4

JAMB SCREW

=S

/ s
VINYL GLAZED 1/8"
SLEEVE DOOR 18
PANEL
Page 5 of 7 EPH-N0OO-06077

6-3-02



7 Attachtheinterior door handle [J]and theexterior
door handle [K] to the door panel [E] with two#6-32x 1
1/4" round head screws [H].

e, _——DOOR

N PANEL
# x 114"
SCREWS o
N EXTERIOR
C / HANDLE
=\
Q% >
~
O,
INTERIOR Q
HANDLE N
P

8 Cutthedriprail[M]tothelengthofthebottomrail
minus11/16". Cleanthebottomdoor railandthedriprail

thoroughlytoensure properadhesion. Unrollthedoublestick
tape[R]andcarefullyapplyittothebackofthedriprail (donot
peelthetapebackingyet).

Insertthetapereddripvinyl[N]intothedriprail. Positionthe
driprailflushwiththebottomand pivotsideof thedoor panel
[E], thenraisethestrikesideuntil thebottomedgeofthedrip
vinylisparalleltothecurb[A]. Markthelocationofeachend
ofthedriprail.

NOTE: Cleanerswithalcohol contentcandissolvethe
adhesivethatattachesthedriprail. Topreventthis
possibility, placeasmallbead of clear sealantatthe
topofthedriprailwhereitisattachedtothe bottom
rail.

— TAPE
T o= \{U)— sorrow
_—— | DRIP
RAIL d@
—J_— (ALIGN)

PIVOT
SIDE

9 Adjustthedripvinyl [N]byslidingitleftor right
untilitjusttouchesthecurb. Trimthevinyl (flushwith
the pivotendand notch 1/4" longer than thedriprail as
shown on the strike end). Secure itwith one #6 x 3/8"
truss head screw [S]inthe pivotend of thedriprail.

Thedrip plug [P]issuppliedwithaleftand righthand
plugtogether. Break therightand leftdrip plugsapartand
inserttheappropriate plugintothe high (strike)sideofthe
driprail. Discard theunuseddrip plug. Peeloffthetape
backingandcarefullypressthedriprail[M]tothedoorinthe
markedposition.

TAPERED ' I
DRIP VINYL
DRIP
>

BREAK ~_
APART

EPH-N00-06077 Page 6 of 7

6-3-02



10 Neatly caulk the inside perimeter of the shower
curbandthe hingeandstrike jambs.
NOTE: Impropercaulkingwill resultin leaks.

NOTE: The caulking should be allowed to cure for
twenty-four hours before using your new shower
enclosure.

TheCareand Cleaningofyour new ALumaxBath Enclosure. Thesimplestand preferred
method of cleaning your unitisbywashing it with cleanwater and dryingwith asoftcloth.
Ifsoilisstill presentafter drying, a non-abrasive cleanser with apH of seven toeight may be
used. Comet Bathroom Cleaner® hasbeen tested and is recommended by the Bath Enclosure
Manufacturers Association (BEMA). Do not use scouring pads, sharp instruments, or acid-
based cleanserstocleantheunit.

Thankyoufor choosingan ALumax Bath Enclosure. Please takeamomenttocomplete

and returntheenclosed Customer Response Card. The informationyou provide helpsus
improve the quality of our products and provide better service toyou, our customer.

Page 7 of 7 EPH-N00-06077
6-3-02



